% B
SRTEE  AaE LIRSS AalbFER & 5
PR AR RATE  MEE (Fo1) K 4
] ]
Gl 2 Eg [ IS > P ni, Bt
1 b B T B B B B L e 5
________ YRR S T U M T S N B 5. (ki @
mi '
57 =N
W mrEm (o () RN W @
2
@ R0 B o] HEMROZOR®| () SRR @ @
3 a strain of Penicillium
4 Staphylococus
W51 wadnr, tROOREEIR= Y o SR R B 7D P L TERE AT b L 27 L S L S
E&H7,
W6 | gs0tm s CIEARABAET L. ZROOWRINRC D X OK (B | 2WET 5 HEOREIT SRR o1,
7 . _
VA ZAVA | 4 DNA fiduie
R Il +| mE T
= b IR
x| IR




91
(1) AABC @ 3380 5 Hill AC b EWGE, i AC< il AB+3iZ BC=5+4,
5< JAC<9

(@) W BC+AC> W AB ThHDT 4+ AC> 5
1< 30AC<5

12 1)

HoRFREK LY ZoMNOEEILS 3.

Moz 0 &+4%, /DOE=/EOP=/DOP=120° T& %,

W DEOHEEZM &35, AEMO (ZZEOM=6 0° OEfA =f4F T EM & EO Okt
I3V 3:2, EO={ 3 THHDTEM OEXIL3/2 TH D,

il DE O 1% 3



®3)

(2) MK EQFR & AEFQ 1%[F UAMEMIC
WL TV 5,

AEFQ I IE=AFLDTLEQF=60" , M
WL CW A IUATEOXHAOFIIE1 8 0° I
72 % 0T LERF =120°

ADEP 042 0L EP o [ JE 44 O BIE D D
/ EDP=/ERP=60°
Q% %2 L v LERF =120°

ZERF+ZERP=180° T&5DT KF,

AR, RPERE—#LECHD,



AT BT AR &
PR ER RAME SR (2 03) K 4

(B xJ7 - FHEER)
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50¢(95-25)=600(25-20)
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(1) 1=0.84
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